Extra Review
Find the equation of the conic that has 

1.  A focus at (-2, -8) and a directrix at y = 16.
2.  Asymptotes’ slopes= ±1 and whose foci are the endpoints of the horizontal diameter of the circle 
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3.  A center at (-3, 7) and is tangent to both the x and y axis.  

4.  Endpoints of a diameter (-3, 12) and (1, 10)

5.  Horizontal major axis of length 200, minor axis of length 22 and center at (6, -6)

6.  Foci at (10,1) and (10,3) and a vertex at (10,11)

7.  Endpoints of a diameter (1,3) and (4,12)

8.  Vertical minor axis of length 12 and foci at (2, -6) and (-2, -6)

9.  As endpoints of its diameter, the traverse axis endpoints of the conic 
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10.  A focus at (1,0) and a directrix at x=0

11.  Foci at 
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 and slopes of asymptotes = ±2

Convert the following to standard form and graph completely.  Graphs will be available in my office Wednesday afternoon (hanging up somewhere).  
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ANSWERS
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